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A clear and succinct description of the overall picture.
I plan to design and implement a NetLogo model of a human society. The model aims at simulating the stability of a society.  The term "stability" here is defined as whether the society can progress better and better. 	Comment by Bryan Head: This is very broad. What aspects of society are you simulating? What level of granularity are you using? What do you mean by progress? Are you simulating a full economy, political system, social interactions, etc?
Some society is not stable because people there attacking each other, grabbing money from each other and only a few people produce and make society progress. A stable society may need majority people work and a few people are the bad guys. Also police is necessary to punish bad guys thus to maintain the peace of world. This model aims at simulate the stability of a society taking these factors into account. 	Comment by Bryan Head: These are assumptions. One can imagine a stable society in which there is rampant theft.	Comment by Bryan Head: What do you mean by “bad guys”? In general, you want to avoid moral judgement when modeling. Moral judgement leads to unstated assumptions and unintended bias.	Comment by Bryan Head: Again, this is an assumption.	Comment by Bryan Head: If you mean that you are assuming these things and building your model from these assumptions, state that.
what can be learned from the project?
How many polices are needed in a specific society to maintain stability of this society?	Comment by Bryan Head: Rather than talking about predicting absolute numbers, I would talk looking at the effects of increasing and decreasing police size. For instance: Is the relationship between number of police and crime rate linear? Is there a tipping point? Does increasing police ever increase the crime?
How many bad guys in a specific society will cause the society instable?
Some conditions may cause good guy become bad guy and good guy become bad guy, what factors influents this and how does this influents the stability of society?
To make society become richer, what productivity the worker needs to have?
And how about their consumption?
Does richer society always means more stable society?
Implement Plan:
Q1: What are the agents?
The individuals in the society. 
Q2: How many types of agents?
Three: worker, police, bad guys. If project goes well may add more later on. Potentially would be leader. 
Q3:What are the interactions?
First note that money represent not only money, but also energy, power, all these kinds of thing, basically means how important the individual in a given society.
Worker produce wealth, interact with patches(some patches represent sources and worker can turn it into money).
Bad guys grab money from worker, even sometimes kill workers. When bad guys become rich, they become super bad guy, like a bang, can be nightmare of a society.	Comment by Bryan Head: What does this mean in terms of the model?
Police punish bad guys and try to turn them into worker. When the percentage of police is high or they are very rich they can easily clear bad guys (but may not true for super bad guys).	Comment by Bryan Head: You are building your results here. Do not assume this. Let it emerge. When a police turtle comes into contact with a criminal turtle, the criminal turtle is punished. Don’t make aggregate level assumptions.
Leader is turned from worker, when one have enough money, it can hires other worker work for him, like form a company, a company has high efficient productivity.
This system may also can simulate how disaster impact society. Disaster has a chance to happen, which will make people lose money and kill some people. 	Comment by Bryan Head: Your project is already too broad. Unless you want to focus on disaster impact, don’t do this.
There may be some other factors can turn one character into another.
Q4:What analysis tools will you use?
Currently I don't know much about analysis tools except behavior space. I find behavior space is quite useful and I want to stick with it.	Comment by Bryan Head: You can take the output from BehaviorSpace and analyze it with, for example, Excel, MatLab, or Python. 
Q5:What kinds of measures will you use?
If the total amount money of all individuals increase, means the society is more productive, or to say more modernization. If the percentage of good guys does not decrease, means  the society is stable. Some other phenomena may also imply something, like the percentage of police, the total amount money of good guys. But I am not sure what it means exactly at this point.
Currently, your project is very broad. You need to figure out what specific aspects of society you’re modeling. From looking over your proposed rules, my guess is you’re doing a simple crime model, but even that is too broad. 
You also need to be clearer about what your assumptions are. You should explicitly state your assumptions up front. Not only does this communicate to others what you’re basing your model on, but also it helps guarantee that you know what your assumptions are.

Try to be more specific with your questions. Having a specific question can help guide you into narrowing down the scope of your model.
I imagine that a lot of work has been done studying the effects of police force size on crime rate, and so forth. Since you’re in 472, you should be basing your work off of past work, so try reading up on what’s been done.
Finally, since you’re in 472, you must do something beyond just making a model. This could be writing a NetLogo extensions (if you know Java or Scala), doing a HubNet activity, making multiple distinct (but related) models, and so forth.
Bryan
